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Problem 1. For each sequence (a,) and given value L, we will prove that

lim,, yo @, = L. The structure of the proofs was outlined in class: we want to
find N so that |a, — L| < e when n > N.

a. a,=1+2/n,L=1
b. a, =sin(n)/n% L =0
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Problem 2. Sometimes the algebra is a little more involved and there’s more
scratch work to do. We also might not be told the value of the limit and we
must use our intuition and skills from calculus. Use the same technique and
structure as the previous proofs to prove that the following sequence converges:
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